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QUESTION 1

Which statement supports usage transaction calculation? 

A. Bill determinants are derived from the final measurements for only interval measuring components or devices
installed at the usage subscription\\'s service points during the calculation period. 

B. Bill determinants are derived from the initial measurement data of the measuring components devices installed at the
usage subscription\\'s service points during calculation period. 

C. Bill determinants are derived from the final measurements of the measuring components or devices installed at the
usage subscription\\'s service points during the calculation period. 

D. Bill determinants are derived from the initial measurement data of the measuring components installed at the usage
subscription\\'s devices during the calculation period. 

Correct Answer: C 

 

QUESTION 2

How many service agreements are linked to a severance process? 

A. all service agreements that are connected to the initiating overdue process 

B. one 

C. any number defined by the business user 

D. zero - accounts are linked to severance processes 

E. all service agreements that are connected to the initiating collection process 

Correct Answer: C 

 

QUESTION 3

How many derived values can a final measurement have in addition to the primary measured value? 

A. 2 

B. 15 

C. 10 

D. 5 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (80) 
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QUESTION 4

Which three statements are true about initial measurements, final measurements, and usage? (Choose three.) 

A. Usage is a synonym for bill determinants. 

B. The initial measurement data can be optionally stored in Raw format. 

C. A service point can have more than one initial measurement for the same period, but only one final measurement. 

D. Final measurements can be directly edited or updated by users or by automated processes as required. 

E. Usage is loaded in the application to generate final measurements. 

Correct Answer: CDE 

 

QUESTION 5

Which three statements are true about usage subscriptions? (Choose three.) 

A. A usage subscription can have either parent or child service points. 

B. A usage subscription can be configured to include only a portion of a service point usage. 

C. A usage subscription can have many service points. 

D. Usage subscriptions are always related to an account. 

E. A usage subscription can have only one service point. 

Correct Answer: ACD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (227) 
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